
MSP-500-V01

Rebounders
EXIT Tempo 1000



          

1MSP-500-V01



          

2MSP-500-V01

Rebounders
        EXIT Tempo 1000 

L

R

RL
1 2 3

69.20.10.01 3X 69.20.12.02 1X 69.20.12.03 1X

69.20.10.04 1X 69.20.10.05 Green Black2X 69.20.10.15 2X

69.20.10.06 1X 69.20.10.07 1X 69.20.10.08 1X

69.20.10.09 1X 69.20.10.10 1X 69.20.10.11 1X

4 5-G 5-B

6 7 8

9 10 11



          

3MSP-500-V01

69.60.44.00 29X 69.20.20.13 6X 69.20.20.14 4X

69.20.20.21 1X M8X40 8X M8 8X

M8 12X M8X50 3X M8X47 1X

C0408000124 8X C0906000034

69.20.20.90

1X

12 13 14

21 15 16

17 18 19

20 22

FD23022 1X



          

4MSP-500-V01

Rebounders
        EXIT Tempo 1000 

R

L

Green

Green

1

5-G

5-G

4

17

16

15

17

3

2

16

15

Part.Nr. Qty
1

2

1

1

3 1 M8X40 2X M8 2X M8 2X

M8X40 2X M8 2X M8 2X

15 16 17

Part.Nr. Qty
4

5-G

1

2

15 16 17



          

5MSP-500-V01

Black

Black

1

1

6

5-B

5-B

17

16

15

Part.Nr. Qty
1 2

Part.Nr. Qty
6

5-B

1

2

M8X40 4X M8 4X M8 4X

15 16 17



          

6MSP-500-V01

Rebounders
        EXIT Tempo 1000 

L

R
7

8

9

10

21

Part.Nr. Qty
7

8

1

1

Part.Nr. Qty
9

10

1

1
21 1



          

7MSP-500-V01

18

17

17

1717

20

20

20

20

20

20

20

20

19

18

18

18

M8X47 1X M8 2X M8 1X

19 20 17

M8X50 3X M8 6X M8 3X

18 20 17



          

8MSP-500-V01

Rebounders
        EXIT Tempo 1000 

5X

5X

6X

5X

11

12

12

Part.Nr. Qty
12 21

Part.Nr. Qty
11

12

1

8



          

9MSP-500-V01

13

14

Part.Nr. Qty
13 6

Part.Nr. Qty
14 4



          

10MSP-500-V01

Rebounders
        EXIT Tempo 1000 




